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SA: DEXNAD
M W2 HEGt=E Al
ol Bdss & us A3 (Che 2l
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
STAZDSNPUE 2ZU(RS2L3
s 290,000
XAt EEZs 2= 2,294,033 3,843,650 A1,549,617
Al 374,978
= 1,919,055
ToAAE SA T2 U CAHZ 0128 ZM(UST A 584,018 640,768 A56,750
)
Al 31,460
- 552,558
AT N2 TALZE 2l 11,530 11,530 0
201 2| 11,530 11,530
01 AtR2telt] 11,530 11,530
SM3RNE 8002 +3,0000H 2,400
TN HelESS (2, RFID B S) 3,000
=4 22|28 (8H)| 22 8) 1,000
S A& AHMARC) 6002 *8,000H 4,800
MAS)| ARS(BE, ZH S) 330
B M2 SARSSHA JHZ 6,910 6,870 40
201 2| 6,910 6,870 40
01 At 22|l 6,910 6,870 40
SHEBMA B2 B4t
75,0003 * 1004 750
ZAL=E 1,560
MBS SH0 g EX
130,000& *63] 780
getEAua 2 130,000& *63] 780
SATHABAL 20,0003 253 500
AL EL E ZH 1,000,000&*12] 1,000
SMZAUE 2¢ 1,000
SIS 1,500
SNUEHA 2H=S 200,000& *32] 600
BN SASHEZ Y 29 29,460 29,460
201 L2 | 29,460 29,460
01 AtR222lt| 29,460 29,460
ZAL=E 29,460
- &ol 2t 130,000 123 x82+ &t 12,480
- {20l - EAE 24
130,000 <82/ 82 £ 8,320
- UEEY 130,000 x4 3| x82¢ & 4,160
RS 130,000& % 102! 1,300
ALAHE A 100,000 *83| x4 £t 3,200
SSSAMUA OHE 29,000 100,000 A71,000
201 L2 | 29,000 99,000 270,000




2A:

M NGAMel 3283 1=
Sl XICIAKS] SA AE U SAR 01222 K40 CAD (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 9,000 9,000 0
o oY & 257Y S
7,000,000 *14] 7,000
HBES H 2H2OAM MH
2,000,000 *14] 2,000
03 A2 I 20,000 90,000 A70,000
HSSAUE 29 20,000,000& *14| 20,000
SHEEA2 Tt 7Y 82,450 82,234 216
201 er23 | 12,450 12,234 216
01 At2teltl 12,450 12,234 216
HE A2t 11,040
&2 2,040
NIEON 15,0003 x22+ 123 360
-2 2 JIet 20,0003 72 * 122 1,680
=N 12,5003 x605+ 123 9,000
detzd 1,410
aE 660
NIEoN 15,0002« 18+ 128 180
-S2X 2 JIEt 20,0003 =22 x 122 480
- &Xl 12,5003 +65+ 1238 750
405 KHoHF S| 70,000 70,000
02 =M=l 70,000 70,000
Atz el 70,000
- HEE A2 60,000
deted 10,000
gEEA2 29 X 2,773 23,244 A20,471
201 Ler23| 1,873 1,473 400
01 At2teltl 1,300 1,000 300
SN2 Fot] 100,000& x2& *13] 200
SATETA2 2T AFBH =&
100,000&* 11 1,100
2 S52g4l 573 473 100
st A2 g3l 123,0002 %12 123
S3T A2 elal| 400,000 %12 400
F=HANTE 2 50,0002 *12] 0
203 HR=AH] 900 900
03 A= PR FZ| 900 900
A2 29 g2 = 1,000,000 *90% 900
SEC N2 H2AAE 2 49,250 27,820 21,430
201 2= 27,250 27,820 AbB70
01 AtR2t2lt] 1,575 2,813 A1,238
ATE 0 7L 450
AHE 2l 450,000& * 1= 450




SA: DEXD
M XYM EE2E 25
S9l: XA SN AE Y AT 0|25T XA (SIHCMB (69 =)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
o ARE P2 1,125
otEClA3 250,000 x4 4 1,000
PCEEHIIDIGIZE, 01224 S)
25,000 *54 125
02 2324l 25,675 25,007 668
2 N RAUES 14,410,0002 % 7% 1,009
HERA LoH&Hl |AE=> 2,162
- A2IX 1,584, 5482 *2CH*8% 254
- POE A2 2,478,396 *3CH*8% 595
P AP 690, 7012 1671 *8% 885
28 AP HEEH 2,827,809& *1CH 8% 227
S WP AEBY 20lHA
89,3852 * 1671 *14% 201
=01 &0l MHIA AFEZ
550,000 14 550
QIHY 3ld AIEZ 700,000& 123 8,400
N XSSEEl AIAE 224
169,420,000 x8% 13,554
405 XHobE S| 22,000 22,000
01 AL =EFSHI 22,000 22,000
Lot ZotEH| 2 22,000,000 *1CH 22,000
OIS A2 Ald 22| 291,949 286,623 5,326
201 B2 AL| 95,149 A,793 356
01 ArR22lt| 9,949 10,006 VaNSY4
SHEAZE SHEX 58,0003 x6Et Ax 128 4,176
SHEA MEH 2 ZEH X
145,2003 «12& 1,743
)| /MY S 15,5003 x5t A x 12F 930
=D 72 40,0002 +5CH*12& 2,400
A Y HSEY M=
700,000& *13] 700
02 324l 85,200 84,787 413
SOIFHIANAE AIESE
190,000& *123] 2,280
MOt EE =2
300,000& 123 3,600
LYAENMEZL ==
220,000& 123 2,640
A2|HIOIH &2 2,052
OHMEY RE =2
160,000& 123 1,920
L =8 132,000& 12| 132
HIIe= 3,000,000& 123 36,000
H L CAIDNARS
1,500,000& = 12& 18,000




2A: UK
M XGAe EEE3 =
Sl XICIAKS] SA AE Y SR 01282 K4(DIEEAR) GRS
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
& - otEe3 600,000& * 122 7,200
A 300,000& %53 1,500
SADIA HIIEE =2
60,0003 *12| 60
SAItA HABEZ 25,0003 *12] 25
SYIAFEDL =2 500,000 23] 1,000
EN=U=Rell]l 50,0002 *13] 50
A= X8I 8,000
NERANLN(EESE) 1,993
- XS XA 200,000 *1CH 200
- AEHEE=E 700,000 *1CH 700
==2/H| 400,000 *1CH 400
Sl 1,386 *5002| &+ 1CH 693
MOl L LI AMERAX 800
307 2I2+01A 196,800 191,280 5,520
05 QIZtRIELZ 196,800 191,280 5,520
SAZEA A RIES 95,880
-2 3,995,000 x2H +12& 95,880
SN2EAN YS RAEZ 100,920
g 4,205,0002 2B+ 128 100,920
Ol A2 HEloI=E2sta2t 29 56,920 55,211 1,709
Al 28,460
- 28,460
101 2124 d| 32,519 24,342 8,177
Al 16,260
- 16,259
M IIZINZ2Z2 NS Es 32,519 24,342 8,177
OeloI=gasta2t 1= (02HA) 29,163
=23 86,3033 2 x 162 27,963
Al 13,982
- 13,981
FEIOMI 300,000 *2H 600
Al 300
- 300
SXEQIE 300,000& x2H 600
Al 300
- 300
JHEERYE = 3,35%
=013 J|ARE2
29,163,000 *4.5% 1,313
Al 656
- 657




2A:

B KoiAs] HELs 25
CR: XY9ALE] SEA BE L T A2 0|2EHE X4 (BHE T AR EER=E)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
ALEE I3
29,163,000 *3.545% 1,034
Al 517
- 517
Wl B2
1,313,000& *12.81% 169
Al 85
- 84
NEEE J|A8E=2
29, 163,000& *1.75% 511
Al 255
- 256
MEE D222
29,163,000 *1.127% 329
Al 165
- 164
201 LBt AH| 19,901 26,369 6,468
Al 9,950
- 9,951
01 AFR22teltl 9,901 26,369 16,468
oelol=ss2st22t 2d(22, M=HI,MARC
s) 3,001,000 & *1A 3,001
Al 1,500
- 1,501
OEl0|=2E 232t 2xE2d
130,000& *303| 3,900
Al 1,950
- 1,950
Helo|se2332t 2= 2
2,000,000& *1A 2,000
Al 1,000
- 1,000
HEl0| =2 E3t32E AH]
1,000,000& =13 1,000
Al 500
- 500
02 S324H| 10,000 0 10,000
HelolsgEsts2t AIE&EEl |X
10,000,000 « 14! 10,000
Al 5,000
- 5,000
405 KHAHRISHI 4,500 4,500 0
Al 2,250
- 2,250
02 =AM 4,500 4,500 0
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A WX
M NGAMel 3283 1=
ol NAS SA DS L SA 0SB T (BHTAD) (el o)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oelol=sg=ats2t 0eloleA 2,000
Al 1,000
- 1,000
)Ilc%j/\ﬁl SN g ¥ SA2 018E8E - (BT M2 1,293,851 2,815,996 1,522,145
Al 343,518
- 950,333
SEEM2 TAXE 2L 19,230 19,860 AB30
201 2= 19,230 19,230 0
01 AtR2t2lt] 19,230 19,230 0
SMEIE 800 *4,7500H 3,800
TN Zeis3(ete 8) 4,100
za 22283 (&880 2l S) 2,000
& A& AHMARC) 6002 %10,00024 6,000
HAS)| 223 (dE, 2H S) 330
RFID EH 300 +10,0002 3,000
SE-NZ SAESHAF W 7,310 8,310 A1,000
201 Ler=23| 7,310 8,310 A1,000
01 AtR2te|Hl 7,310 8,310 1,000
IS gt 12,0003 »200% 2,400
SNE A 22 ST
75,0003 * 107K 750
FAE 1,560
CEMBE - SMY 2 SY
130,000%22| *32 &t 780
getENNA S22
130,000%22| x32 &t 780
gGa S22 34 1,000,000 #22] 2,000
SHUESHAN 2SS 200,000 *32 600
SIECNS SASHEZ Y 29 27,560 27,560
201 er2 3| 27,560 27,560
01 AtR2telHl 27,560 27,560
ARG 27,560
- del 2 130,000& » 122/ «82 &t 12,480
- Ofelol - Had 23
130,0002 x82|* 10+ 10,400
- SEsEY 130,000 62| x62 2 4,680
SHEA2 Az 7Y 94,370 84,082 10,288
201 fer23y| 14,370 14,082 288
01 AtR2t2|HI 14,370 14,082 288
StHET A2 12,960
sz 2,760
NN 15,0002 x22+ 12 360




SA: DEXD
M NGAMel 3283 1=
Chol: XIS SA DS U CAHZ 0128 T4 (SATAD) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-S4 2 JIEt 20,0002 x10%+12& 2,400
=N 12,5002 685+ 122 10,200
sEE 1,410
- A2 660
NN 15,0002« 12+ 12 180
-S2A 2 Ol 20,0002 x2F* 123 480
=PN 12,5003 55+ 1238 750
405 AtatE=H 80,000 70,000 10,000
02 =A=Ehl 80,000 70,000 10,000
Az el 80,000
StEE A2 60,000
sgEd 10,000
ANIEE M2 10,000
HEANS 2 A2 4,423 4,273 150
201 fer=3| 3,523 3,373 150
01 AtR2t2|HI 2,700 2,700 0
SN2HE! Ol 100,0003 2 x13] 200
stEMsda & SaHMEg2 23| 2,500
2 35234l 823 673 150
st=E A2 2l 123
S3ST A2l 600
FEINSE 2 100
203 gF=4| 900 900
03 A=A 2= 900 900
N2 2 R = 1,000,000 *90% 900
A2 AR 2E 400 400 0
201 Ler23| 400 400
01 At2teltl 400 400
NEe2g 48t 28+¢
100,000 *1& %42 400
BN JEAAE 2E 39,601 38,688 913
201 fet=3| 39,601 38,688 913
01 AtR2t2|HI 2,700 2,700 0
LZEN P 450
- NS Al 450,000 x1=2 450
HAAEE P 2,250
ot=liAa s 150,000 *10H 1,500
PCFEDDIGIZE, 0IRA §)
25,0002 *30H 750
2 35244l 36,901 36,988 913
Gilf 22 AIAE SN RXI2==
150,000& « 12 1,800




A WX
M NGAMel 3283 1=
Chol: XIS SA DS U CAHZ 0128 T4 (SATAD) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
TABRIAAE H SX 2
13,864,000 *8% 1,110
T ACIAIAR SN RXI2
19,500, 00024 *12% 2,340
ORI (Wahe) HI RXIE4
17,810,000 8% 1,425
SHAANE 2 FA2
24,842,000& *13% 3,230
TH RSB SXBS
192,723,000 8% 15,418
=01 50l AHlA AIB2
1,450,000& 1= 1,450
QELSE AES 784,000 122 9,408
ADIEEEAS QIHASIE Al EZ
60,0002 * 12 720
SIHEMZ BILAIY LS (RIRMAIE B RX=S) 462,334 437,920 24,414
Al 300,518
- 161,816
201 =3 462,334 437,920 24,414
Al 300,518
T 161,816
01 At2tltl 462,334 437,920 24,414
BIL &= 462,334
Al 300,518
- 161,816
SEEZ A2 BILAIY 29 472,000 470,000 2,000
307 @120l & 472,000 470,000 2,000
05 git?(& = 472,000 470,000 2,000
BTL =& 472,000
SHEE A2 A4 22| 93,579 92,859 720
201 2= 70,748 70,028 720
01 At2t2lt] 4,668 4,668 0
SR E2 22(AT NE 8) 300
0| =Al2el 40,0002 *6CH* 12 2,880
)| fdE S 15,5002 x8=t A+ 12 1,488
02 S3=gHl 66,080 65,360 720
HERAL(LE3E2) 2,260
« ASXHAl 60
AEEE= 600
- SHNERES 200
- Z=clhl 400
- /&l 1,386 +7212| B+ 1CH 1,000
o= 4,500,000& ~12& 54,000
AOEZ AN &DIRs 60,0003 * 12 720
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2A: UK
BH: XAME HPRH 2E
SI9l: X2AEl SA AE L CAT 0|28F X4(22EMD) (crop:mel)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
201 LB-2AH| 29,640 29,640
01 AtR2telt] 29,640 29,640
LAY 29.640
Aol 2% 130,0002 *123] x42 &} 6,240
210l - B 25
130,000 »93] 1224 &t 14,040
- S EZ 130,000 *532|*82F &t 5,200
22AHE 2H 130,000 *83| x42} 4,160
2242 g 2 69,510 68,970 540
201 L2 AY| 9,510 8,970 540
01 A=R2teld| 9,510 8,970 540
a2 2,760
- XX 15,0002 x22+ 12& 360
- SUX 2 JIE 20,0003 #1022+ 122 2,400
FSoN| 12,5002 x455+ 122 6,750
405 Xt S| 60,000 60,000
2 &EA7I 60,000 60,000
pNE=Ed ]l 60,000
2242 29 N3 3,673 3,573 100
201 B2 AY| 2,773 2,673 100
01 At 2elt] 200 200 0
S MZCHE &I 100,000&*2E * 13| 200
02 2324l 2,573 2,473 100
St A28 3| 123,000 12l 123
S3EM2E eS| 400,000&*13] 400
S22Z X743 50,0002 *12] 50
M MU= A2 HFIHI
2,000,000 *12] 2,000
203 RF=&Y| 900 900
03 A F=RIHRFAIY| 900 900
SAE 29 32 FH 1,000, 000 *90% 900
FETAS FEAAE 2 28,723 16,328 12,39%
201 B2 AY| 15,791 16,328 AB37
01 A=R2teld| 1,000 850 150
HAARE 2 1,000
ot&ECiA3a 150, 000& *54 750
PC Z=EDDIGIEE FIEA OIRA S)
25,0003 * 104 250
02 3324l 14,791 15,478 AB87
HOLRH| SA24(835H)
13,090, 000 *7%*25% 230
SNE XSS HH(SMZARRID] S)
95,631,000 *8% 7,651




SA: DEXD
M XYM EE2E 25
S2: XYGAE SM JE & TAZ 0|28E X4 (2382 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
QIEY 3ld AIEE 530,000& 123 6,360
=120l MHIA AIBZE 550,000 14 550
405 Xt SHI 12,932 12,932
01 XML =EF S| 12,932 12,932
HERIT Y3t 2 12,931,600 *1CH 12,932
==2&AM& AlE 22| 267,428 250,285 17,143
201 B2 AL| 59,468 59,605 A137
01 ArR222ltl 7,588 7,918 A330
SHEAZE SHEX 58,0003 3t Ax 128 2,088
SHEA MERF 150,000& x 123 1,800
)| MY S 25,0003 x4t A% 12F 1,200
=D 72t 30,0003 *5CH* 123 1,800
A Y 9B AN MELE
700,000& * 12l 700
02 324l 51,880 51,687 193
HIIR= 1,600,000& = 12& 19,200
SANARS 1,000,000& =123 12,000
aot=E 3 300,000& =123 3,600
NERAL(ZESE) 1,300
- XS XA 60,0002 *1CH 60
- ASHEBEZ 300,000 *1CH 300
=cltl 300,000 *1CH 300
- 7&FUl 1,600 *4002| E4*1CH 640
A 220,000& x53| 1,100
AZHIOIH HH+2 1,980
COIMEY PEpaR
154,000& * 12 1,848
FIEE =8 132,000& *12] 132
SADIA BB =22
60,000 *12] 60
M= S28IA =2 70,0002 *13] 70
Ne=x A =8 350,000 *23| 700
MIHME L a2
110,000& * 12& 1,320
EA= =il 50,0002 *12] 50
2PAIE HLUEH =2
600,000& *23] 1,200
ESUNEIN: ] 4,500,000 * 14! 4,500
e Y FuE)| 2o 24
2,800,000 14 2,800
SO 2L AHC! 2,000,000 14 2,000
307 QI2tol 195,960 190,680 5,280
05 QIZtRIErZ 195,960 190,680 5,280
SM2EAN EAL RAEZ S 95,040
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WXL

=

M NGAMel 3283 1=
ol NAS SA DS L SA 0122 I8 (SZEAD) (el o)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
b 3,960,000& 2H 122 95,040
CNSEA ES PSS S 100,920
2 4,205,000 2H 122 100,920
401 A2 HIZL R 0HbI 12,000 12,000
01 Al&HI 12,000 12,000
2 D BA 6,000,000 * 14 6,000
s Hel2= wH 6,000,000 14 6,000
HH2LZH(NEXAD) 741,383 699,948 41,435
[ 186,999
Al 186,999
- 367,385
QI 2HH(HdsEI|=) 109,221 111,35 N2,135
I 2HH(BdsEI=) 109,221 111,35 N2,136
101 21A4H| 109,221 111,35 A2,135
02 JIEtME = 109,221 111,35 A2,135
LI NS R 82 (BHNFA}) 59,763
== 3,716,600~ 128 44,600
oA SA 193,410~ 12& 2,321
- ZAsAll 140,000& * 12 1,680
- AgEx| 180,000& 12 2,160
- g sy 50,000& * 122 600
- =LHOIH 20,0003 x142 128 3,360
- A2el=E 10,1623 x34A1 2Hx 12 4,147
- G2 &I
3,716,600 x84%+~86%+1/30% 10! 8%
AZHEEIHED NS R 2 (HHLFAL 49,458
s= 2,955,810& ~12& 35,470
SxA2sg 139,500& « 12& 1,674
NG AHI 140,000 x 122 1,680
EEEES
180,000& *35/40A1 2+ 12 1,890
- syl 50,0002 x35/40A1 2+ 12E 525
- =LHOH 20,0002 x 142 122 3,360
< AN2Hel=E 10,1622 34 A1 2Hx 12 4,147
- U2 &I
2,955,810 «84%+86%+1/30%1/7x7T0A1 2+ 712
QIHA2HH(UH A 2) 161,639 129,161 32,478
= 57,538
Al 57,538
- 46,563
QIS M2t QIS (Of2AIZE HE) 161,639 116,779 44,860
[ 57,538
Al 57,538
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(ol ==]
—

=aak

- SHRABA) - HRAY - BES

HMEE
Ofl &k2h
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&Y
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145,360
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30,284

105,286
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=

SR
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2,425,660 x4H* 123

140,000& x4« 123
1,932, 7403 «4H

40,0003 x 123 +3H+70,000& x12& 14
1,827,403 x4H
1,221, 7402 x4H
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145,360
116,432
57,538
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1,356
6,720
7,731
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101,671
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144,737 ,0002 4. 5%
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144,737 0002 *3.495%
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144,737,000 +0.435%

~
el
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144,737,000 1.75%

~
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144,737 ,0002 *1.066%

16,279
16,279

6,514

5,059
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1,543

11,493

4,786
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Ju
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0
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02
H
x

=

=Y

Al

201,023
71,923
71,923
57,177

196,414

4,609

201,023
71,923
71,923
57,177

156,061

44,962

101

=]

Al

181,233
71,923
71,923
37,387

140,701

40,532

03

181,233
181,233

135,881

45,352




SA: DEXND
M #YRAGH(uS
el HA2IHI(SEE (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
s 2,425,660 x5H 122 145,540
= 71,923
Al 71,923
- 1,694
- MG AHI 140,0002 x5 *12& 8,400
- SESIH 1,940,520 +6% 9,703
- EEE 38,0008 x5~ 122 2,280
AR A 1,827,4302+5& 9,138
da0i=2 1,234,340 x6H 6.172
04 HSRESS 19,790 15,360 4,430
04 SR (RIHA)22N BE=RES S 19,790 15,360 4,430
SR 22X 2= RE= S 19,790
SIS E=E)
174,232 ,0002 *4.. 5% 7,841
228 J|2HRES
174,232,000 +3.545% 6,177
LI J|I2E52
174,232 0002 *0.435% 758
NESE J2ARE3
174,232,000 *1.75% 3,050
AHHEE J2RES
174,232,000 *1.127% 1,964
A2 AH(SIEMS) 161,482 154,999 6.483
= 57,538
Al 57,538
- 46,406
=aTA2 E2 ZHAIZE ) 161,482 116,247 45,235
s 57,538
Al 57,538
- 46,406
101 e124d| 145,051 104,806 40,245
= 57,538
Al 57,538
- 29,975
03 SR (2] 122X E S 145,051 101,191 43,860
HZEAIZE AZAL 145,051
JlEs 2,425,660 «4B 128 116,432
= 57,538
Al 57,538
- 1,3%
- JHZAHI 140,000& x4~ 123 6.720
- EFOHI 1,982, 7403 x4H 7,731
- AOt2 4| 1,827,4903 x4 7,310
gitdt= 1,234,340 x4& 4,933
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